MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) : 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
. (305) 375-2901  FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.miamidade gov/buildingcode

ES Windows LLC

10653 NE Quaybridge Ct.

Miami, FL 33138

ScopE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed by Miami-Dade County Product
Control Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County
and other areas where allowed by the Authority Having Jurisdiction (ARD). :

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes, If this product or material fails to
‘perform in the accepted manner, the manufacturer will incur the expense of such testing and the AH) may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptanee, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series 5000 Outswing Aluminum Casement Window - L.M.I.

APPROVAL DOCUMENT: Drawing No. W08-08, titled “S-5000 Alum. Outswing Casement Wdw.
(L.M.L)”, sheets 1 through 5 of 5, dated 01/23/08, with revision A dated 02/1 8/09, prepared by Al-Farooq
Corporation, signed and sealed by Humayoun Faroog, P.E., bearing the Miami-Dade County Product Control
Revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County
Product Control Division. .

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved" or the Product Control Seal, unless
otherwise noted herein.

RENEWAL of this NOA shall be considered after a rencwal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertisinig or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety. ) :
INSPECTION: A eopy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 08-0204.05 and consists of this page | and evidence page E-1, as well as approval

document mentioned above.
The submitted documentation was reviewed by Carlos M, Utrera, P.E.

NOA No. 09-0226.01
Expiration Date: April 3, 2013
IAMIDADE O
Approval Date: April 15, 2009
Page 1
. 3 /za/ﬂ’?



ES Windows LLC

NOTICE OF ACCEPTANCE: __EVIDENCE SUBMITTED

DRAWINGS

1. Manufacturer's die drawings and sections.

2. Drawing No W08-08, Sheets 1 through 5 of 5, titled “S-5000 Alum. Qutswing Casement
Wdw. (L.M.L)", dated 01/23/08, with revision A dated 02/1 8/09, prepared by Al-Farooq
Corporation, signed and sealed by Humayoun Faroog, P.E,

TESTS
1. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
along with marked-up drawings and installation diagram of series 5000 outswing aluminum
casement window, prepared by Fenestration Testing Laboratory, Inc,, Test Report No. FTL-
5336, dated 11/16/07, signed and sealed by Carlos S. Rionda, P.E.
“Submitted under NOA # 08-0204,05”

CALCULATIONS

1. Anchor verification calculations and structural analysis, complying with FBC-2007, prepared
by Al-Farooq Corporation, dated 02/17/09, signed and sealed by Humayoun Farooq, P.E.
Complies with ASTM E1300-02/04

2, Anchor verification calculations and structural analysis, complying with FBC-2004, prepared
by Al-Farooq Corporation, dated 1/15/08, signed and sealed by Humayoun Faroog, P.E.
“Submitted under NOA # 08-0204.05" '

QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO)

MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 05-1208.02 issued to E.I, DuPont DeNemours & Co., Inc. for their

“DuPont Butacite PVB Interlayer” dated 01/05/06, expiring on 12/11/10.

STATEMENTS
1. Statement letter of conformance, dated February 19, 2009, signed and sealed by Humayoun
Farooq, P.E.

2 Statement letter of no financial interest, dated January 15, 2008, signed and sealed by
Humayoun Farooq, P.E.

3. Laboratory compliance letter for Test Report no. FTL- 5336, issued by Fenestration Testing
Laboratory, Inc., dated December 7, 2007, signed and sealed by Carlos S. Rionda, P.E.

OTHER
1. Notice of acceptance No. 08-0204.05, issued to ES Windows LLC, approved on 04/03/08 and
expiring on 04/03/13. g
9/23Af

Gérlos M, Utrera, P.E.
Pradnet Contral Examiner
NOA No. 09-0226.01
Expiration Date; April 3, 2013
Approval Date: April 15, 2009



) ' = -
: ) ) ' ) o " ! hu\'h%.l
' ’ SURFACE APPLIED - o 3 _)8
FALSE MUNTINS 1
@ _ opnorw.\ @ 1 S
: L €. =
i . A } AN T | -t @ '5‘
| 1 23) ! HEES b= i 8
i ¥ v Ve 1 | — 0 7 i E ~ 14 M S & ]
'l | 1 i I < i Py 19
: no : : l t T N o Gl=
R | N Ol | R el N &3 18
! ! ! S g - | it : — - o el tions Sl il » =
SECH Bt |50 RO R i< 1
5k g e Bl L7 ® I e A 1A
R I g by gm @ W %@ % V2 H M ~ gm 02 5
R R T | | e 2 it DY NS Az 0/ SR | | — i« S N 2 g &
iy - ~1° K| ===== FrI=== E] @iz 7 . EEEESRTEEEEE N T S i § Ozyn g
{ - @l P | 1= ' - .= wld ” i yd ™~ &><3
8 wiZ wn'g N Irf i :—L 8 w.Z 0lig < Irf v y - o g
g > ~ i = £ > - ~ il I — - g Eag g
T i I +
! i::é{*'::::: | | :—ﬁ—4—>‘:l ,,,,,,,, = | N e | '{‘"_“_“‘ < E 3 ﬁf g\
! | N0
| N . a7 o[58
<
' @i: ~ e : l A @.‘f ~ v " e <595 P
N S g 1 | )
= R ! 2 .2 T i B [ ———
¥ v R 't _ 3 o
g 0 3 0 = §
@ Cleg : @
30" w3 30 5/8 30 5/8 ¥ 2 = $
D.L.0PG ?-‘|—’8 D.L. 0PG DL, OPC >178 =l . 2
35 1/4" i 35 7/8° 35 7/8" " Gl = 3
' VENT WIDTH VENT WIDTH VENT WIDTH o % ;
A EEEE
a7 74" '
WINDOW WIDTH WINDOW WIDTH 2 & © o
a g <o v
5150589
SINGLE V NT_WDW 3|8~m &
ZNZy , S
T | d —
EE A
glies®
I 3 )
8 TN =
O
| SR
SERIES 5000
ALUMINUM OQUTSWING CASEMENT WINDOW i
APPROVAL APPLIES TO SINGLE VENT OR DUAL VENT WINDOWS g
Wi , " ! c|™
) ALQ-(; 2OAhT;Ni:OizNggUg:;STN/SCASMT OR CASMT WITH OTHER ™ |7 T TR o MAXIMUM DESIGN LOAD RATING = + B5.0 PSF1| |28
090" INTERLAYER N OR SMALLER - } F 9
WINDOW TYPES IN MODULES OF TWO OR MORE WINDOWS USING BUTACITE PVB BY ‘DUPONT' (FOR SIZES SrowN AaovE Bl 850 Ps 2 g
MIAMI—DADE COUNTY APPROVED MULLIONS IN BETWEEN. \ %g
LOWER DESIGN PRESSURE FROM WINDOWS OR MULLION APPROVAL 1/8" HEAT STREN'D GLASS ~
WILL APPLY TO ENTIRE SYSTEM. . o
& SILICONE e
w DOW CORNING 795 sflets
THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE Z D , 218
REQUIREMENTS OF THE FLORIDA BUILDING CODE 2004/2007 EDITION INCLUDING 5 , S htS
HIGH VELOCITY HURRICANE ZONE (HVHZ). : '§ R | THESE WINDOWS ARE RATED FOR LARGE MISSILE IMPACT. | [lE)lg]< )
\ — i | S ——————
WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER 57 @\ { SHUTTERS ARE NOT REQUIRED. =
LOADS TO THE STRUCTURE, / 3
A Engr: DR, HUMAYOUN FAROCQ ) n Q
ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, ANCHORS / STRUCTURES FRODUCT REVISED | Zl
EMBEOMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. k1 J FLA PE 4 16557 S =k
ANCHORING OR LOADING CONDITIONS NOT SHOWN IN THESE DETAILS ' " " ' FYER N
ARE NOT PART OF THIS APPROVAL. n.———i—— NOTE: s 8% jle)i5]
e . o T T
A LOAD DURATION INCREASE IS USED IN DESIGN QF ANCHORS INTQ WOOD ONLY. N GLASS CAPACITIES ON THIS SHEET ARE f‘a;a’:;ing o,
MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT COME INTO BASED ON ASTM E1300-02/04 (3 SEC. GUSTS) WOB--08
CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS GLAZING DETAIL AND FLORIDA BUILDING COMMISSION “FEB 1 9 2009
OF 2004/2007 FLORIDA BLDG. CODE SECTION 2003.8.4. DECLARATORY STATEMENT DCAQ5-DEC-219 ‘ sheel 1of 5 )




TYPICAL ANCHORS . _
SEE ELEV. FOR SPACING

/ WOOD BUCK

L]
Pyl

4 4 / a
F o ;/d
j“>d:)’/ %
f | Fo——

5T o

NE

D.L. OFG.

VENT HEIGHT
EXTERIOR

—]

WINDOW HEIGHT
SCREEN OPTIONAL

|

SHIM

8

SEE ELEV. FOR SPACING

__TYPICAL ANCHORS
SEE ELEV. FOR SPACING

METAL

| STRUCTURE

34

33

3/16° MAX,
SHitd

3

" TYRPICAL ANCHORY ~
SEE ELEY. FOR SPACING

MiaMI-DADE COUNTY APPROVED
MULLION & MULLION ANCHORS
SEE SEPARATE NOA

D STRUCTURE

\23\'\'4 @c
R
//

TYPICAL ANCHORS _l

SEE ELEV. FOR SPACING

<

13 4

L4

P

& - P P
TYPICAL ANCHORS
SEE ELEV. FOR SPACING

1/4" Max
SHiMs

SHIM

|
__:F-
1/4" MAX

WOOD BUCKS AND METAL STRUCTURE NOT BY E.S. WINDOWS
MUST SUSTAIN LOADS IMPOSED BY GLAZING SYSTEM
AND TRANSFER THEM TO THE BUILDING STRUCTURE,

TYPICAL ANCHORS: SEE ELEV. FOR SPACING

1/4" TAPCONS
INTO 28Y WOOD BUCKS OR WOOD STRUCTURES
1--3/8" MIN. PENETRATION INTO WOOD

THRY 18Y BUCKS INTO CONC. OR MASONRY
1-1/4" MIN. EMBED INTQ CONC. OR MASONRY

14 SM R Rl REW

INTO DADE COUNTY APPROVED MULLIONS (MIN, THK. = .090")
INTO METAL STRUCTURES

STEEL : 12. GA. MIN. (Fy = 36 KSI MIN.)

ALUMINUM : 1/8" THK. MIN. (6063-TS5 MIN.)

(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED)

TAN

INTO CONCRETE AND MASONRY = 2-1/2" MIN.
INTO WOOD STRUCTURE = 3/4" MIN,
INTO METAL STRUCTURE = 3/4" MiN.

SEALANTS:

ALL FRAME AND VENT CORNERS AND INSTALLATION SCREWS
SEALED WITH CLEAR/ALUMINUM COLORED SEALANT.

Engr; DR. HUMAYOUN FARODQ

STRUCTURES PRO CUCT REVISD
FLA. PE # 16557
CAN. 3538

FEB 1 9 2003

a

——

COMP—ANL\W0OB—08ESW j

f
<

FAX. (305) 262-6978

, FLORIDA 33174

TEL. (305) 264-8100

L-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

E

-0842 } {

1235 S.W. 87 AVE

Miami

FAX, (305) 249

5220 N.W. 72 AVE. BAY #4

MIAMI, FL. 33166
TEL. {305) 249-0840

E.S. WINDOWS LLC

(5-5000 ALUM OUTSWING CASEMENT WOW. (LM.L)

|

J

NO CHANGE THIS SHEET

(no| date | by[description

A |02.18.09

(revisions:

1
sate:  1-23-08

-

- N
drawing no.

sheet 2of 5 )




3/167 MaX.
—— s by

SHiM
vl

TYPICAL ANCHORS
SEE ELEV.~
FOR SPACING
A

\

/47 X,
EL

18y

/ / WOOD BUCKS
L

i / i *
N —é— . _l', ‘\.‘ Y — ‘9”
\
_'_"ﬁ. 4@5 5 \’_\ A | ] b 4
(13 _ L TYPICAL ANCHORS
s (9 - SEE ELEV.
@ @ 0 EXTERIOR @ v FOR SPACING
METAL 18 @ !
STRUCTURE D.L. OPG.
VENT WIDTH ’
N WINDOW WIDTH
SINGLE VENT WINDOWS
1/4" SHIM P
- © ®

=
L

TYPICAL ANCHORS
SEE ELEV.
FOR SPACING

D.L. OPG.

YENT WIDTH

MIAMI-~DADE COUNTY
APPR,D MULLION
SEE SEPARATE NOA

TYPICAL ANCHORS

- SEE ELEY.
/ FOR SPACING

e

WINDOW WIDTH

WINDOW WiIDTH

1/4% MAX.
SHIMS

L4 TYPICAL ANCHORS

*/ SEE ELEV. FOR SPACING
4
4

g

EXTERICR

D.L. OFG.

VENT WIDTH

WINDQW WIDTH

DUAL VENT WINDOWS

L —

Engr: DR, HUMAYDUN FARGGQ
SYRUCTURES
FLA. PE § 16557
CAN. 3538

EB 1 9 2009

a\
f
)

!
k

COMP—ANL\WOB—0SESW

FAX. (305) 262-6978

AL-FAROOQ CORPORATION | 2

ENGINEERS & PRODUCT DEVELOPMENT

{ MIAMIL, FLORIDA 33174

TEL- (305) 2648100

1235 S.W. 87 AVE

t

|

|

FAX. (305) 249-0842

, FL. 33166

.S. WINDOWS LLC
220 N.W. 72 AVE. BAY #4
TEL. {305) 249-0B40

(5-5000 ALUM OUTSWING CASEMENT WDW. (LM.L))

MIAM}

E

Ny N
[}
[ M)
&
[
c
gn‘-:
k]
NE:
g
b b
o
ho| 2
P
K
n ()
cleld
80;
.gvo
o(
e _J
o ———
T
i
(2]
o
)
s
g
[-]
n

drawing  no.

w08-08
(sheet 3of 5 )




-
ITEM PART # | QUANTITY |DESCRIPTION A )‘ MATERIAL | MANF./SUPFLIER/REM: )‘ g ku) 3
3 1 £S5001-5 1 ERAME HEAD 6063-T6 | - m ) §
2 ES5001~6 1 FRAME SILL 6063-T8 | - S R
3 ES5001-3 [ 1/ VENT | FRAME JAMB-HINGE SIDE 6063-T6 | - 4 @ g
4 ES5001—4 | 1/ VENT | FRAME JAMB-LATCH SIOE 6063-16 | - o B % 3'
5 | €S5002—1| 17 VENT |VENT TOP RAll ] 8063-T6 | - IE a g i
3030 6 | £55002-2] 1/ VENT |VENT BOTTOM RAL 6063-16 | - el 832
7 ES5002-3 1 1/ VENT |VENT SIDE RAIL-HINGE SIDE 6063-T6 | - Qi 2i°
8 ES5002~4 | 1/ VENT {VENT SIDE RAIL~LATCH SIOE 6063-T6 | - & E 2
9 ES5004~1| 2/ VENT | SNUBBERS, 2-1/2" LONG (AT 11~1/2" & 52" FROM BOTTOM) | €063-16 | - 05 «
10 ES1008~4 | AS REQD. |GLAZING BEAD 6063-T6 | - 032 a
1 ES1010 | AS REQD. | GLAZING WEOGE SOFT PVC | - QOQung
12 - AS REQD. |FRAME & VENT ASSEMBLY SCREWS - £10 X 1-1/2" PH SMS Qaxg §
00600 FRAME 13 - 2/ SNUBBER| SNUBBER INSTALLATION SCREWS - #8 X 1/2° PH SMS g g'&:g 3
14 ES5008 | AS REGD. | OUTER WEATHERSTRIPPING NEOPRENE | - o E.zu_‘ g
1.848 15 ES50Q58 | AS REQD. |INNER WEATHERSTRIPPING NEOPRENE | - Lz sa
16 | PJS40-SS | AS REGD. | CORNER LOCK - SULLWAN & ASSOCIATES &l %gg d| !
17 30156 | 2/ VENT |4 BAR HINGES-HEAVY DUTY - TRUTH HAROWARE .y
—|— 082 18 - 3/ HINGE | HINGE MGQUNTING SCREWS AT FRAME - #10 X 1/2" PH SMS (r‘;—:ﬁ*—#)
Las |2 § 18A - 4/ HINGE | HINGE MOUNTING SCREWS AT VENT - #10 X 1/2" PH SMS 3 3
2395 L[ 30 19 | 23 SERIES | 1/ VENT | SINGLE ARM OPERATOR (AT B-1/2° FROM ENDS) - TRUTH HAROWARE = E
R o 7%3 20 - 4/ OPER. | OPERATOR MOUNTING SCREWS - #10-24 X 3/8" PH SMS é g |
G { 21 30175 | 1/ OPER. |13-3/4" LONG TRACK ST. STEEL | TRUTH HARDWARE il o+ 7
720 22 - 2/ TRACK | TRACK MOUNTING SCREWS - #10 X 3/8" PH S5 SMS L;J W= 3
° 23 - 1/ VENT | LOCKING HANOLE - SULLIVAN & ASSOC. 2o, % 3
.528—L—° 24 - 2/ VENT | LOCKING CAM (AT 11-1/2" & 50-1/2" FROM 80TTOM) - SULLICAN & ASSOC. 8 5 ‘If &
25 - 2/ LOCK | LOCK MOUNTING SCREWS - #6-32 x 1/2 PH MS 217 Y, .
VENT 26 ES5013 | 1/VENT | LOCK HANDLE/CAM CONNECTOR - 1/4" x 172" ALUM. BAR 2 g : ©3
27 55011 2/ BAR | CONNECTOR SCREWS - CUSTOM 2 8 NmT
28 €S-200K-SS| 2/ VENT |KEEPERS (AT 12" & 51" FROM SOTTOM) ST STEEL | SULLIVAN & ASSOC. 3|z 3
4811 29 - 2/ KEEPER | KEEPER MOUNTING SCREWS - #10 X 3/8" PH SMS R
1,873 30 - OPTIONAL | 5/16" HOX SCREEN - - § B S -3-' g
1186 - 31 £55014-1 - ORIFT RESTRAIN CLAMP, 6" LONG 6063-T6 AT MIOSPAN QOF VENT E RER
32 - 3/ CLAMP | CLAMP MOUNTING SCREWS - #10 X 1/2° PH SMS »
ﬁﬁ!"\r““ % 33 £55009 2/ VENT | ANTI SAG SKATE, 2" LONG NYLON/CELCON{ M&M PLASTICS o )
== 1.098 34 - 2/ SKATE | SKATE MOUNTING SCREWS - #6 x 1/2" PHSMS
2125 062 [ 35 - 2/ ASSY. |TANDEM LATCH SPACER - - "
7 36 ES5003-~1 1 IMPOST 6063-T6 g
37 ES5010 | AS RQD. |IMPOST STIFFENER 6063-T6 o2
- fz*’i "
- 950« g 3
=l
1,186 - 3]
(MPOST g 9|3
@S| g
{4 1.030 Eg = J
i [zs - r.m
_‘"{ '?“"'"H\E Engr: DRS:{R%%?_L%LEB; FARGODQ
803 062 FLA, PE ¥ 16557
1.844 i L CAR. 3538
188
—t — 837 I /
: +7FeB 19 2009
@) IMPOST STIFFENER (19  GLAZING BEAD (sheet 40f 5 )




(#S320-80M\INV—dNOD

-
E R

g N 8z6929T (SOE) Xvd

Lu
oo.nw.kuﬂmoanm._.
FLEEE VIO "AVIN |
AV LB 'M'S SETT
AINFWAOTIFAIA LONAOH ¥ SHIINIONI

Z¥e0-6¥Z (S0T) xvd

ove0-6vZ (50€) 3L
ggLece 4 CIAVIN

+# AvS "AAY 2. M'N 0ZZS
OT1 SMOCONIM "S'3

ﬁ:._iv "MOR ININISYD INIMSINO ANV 0005-S

|
J
)

T

L33HS SIHL 3DNYHY ON 60'81Z0| ¥

uondiosap [AQ | 210p [ou)

(

SUDISIASTY

sheet S5of 5

. &) NolLYHOJN0D DoouVI-TVY

FRAME CORNER

FLA. PE § 16557
CAN. 3538

Engr: DR. HUMAYQUN FARQQQ
STRUCTURES

/\/

VENT CORNER

IMPOST CORNER




